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1.

How many different integral solutions to the equation ny + n, + n3 + ny + ns = 25,
such that each n; (for i =1,2,...,5) is a nonnegative integers. (10%)

Find the general solution such that a, = 5an.1 — 4an2 + 3%x2". (15%)
Prove that if n is an integer and n*+5 is odd, then n is even using an indirect proof. (10%)

Let R be the relation on the set {1, 2, 3, 4} containing the ordered pairs (2,1), (2,3), (3,1), (3,4),
(4,1), and (4,3). Find

(2) R (5%)

(b) R (10%)

-1 -2 -2
A=| 1 2 1|, i#Fza+77
-1 -1 0

(a) F A% e st (eignevalues) 2 4% e+ £ (eigenvectors)  (15%)
(b) - 4L P, # ¥ A 4B v 44 (v (diagonalizable) - 2 P % i@ 241% PaE, & Az
$4 B o (10%)

i * § #r% % (Gauss-Jordan)i & ;2 £ 5] k seeqi2(10%0)
3X1 —3X, +3x3 =9,

2X1 —Xo +4X3 =7,

3X1 —5Xy, X3 =7.

AklL— 2x2 5l - JA =3 > o
(a) [3A] =2 (3%)
(b) |A? =2 (3%)
(c) AA'AY=?  (4%)

%F‘EJWE} {(1,2,0),(0,1,-1), (1,1, 2)}% R%F”EE}“’F'&J,%%&LI‘%’EM’ ° (5%)
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